MATHS

BOOKS - ICSE

FRACTIONS

Solved Examples

1. Find the product

5><12
8

[ o Watch Video Solution


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_kntTVCBQ3F9d

2.Find the product

3><16
7 9

° Watch Video Solution

3. Find the product

34
— x 15
5 X

o Watch Video Solution



https://dl.doubtnut.com/l/_kntTVCBQ3F9d
https://dl.doubtnut.com/l/_Y1g9jtJNPqIQ
https://dl.doubtnut.com/l/_tQMahUSfFOvv

4.Find the product

61><15
4 7

o Watch Video Solution

5. Find the product

6><15><9
25 8 12

o Watch Video Solution



https://dl.doubtnut.com/l/_glsygmjRDouq
https://dl.doubtnut.com/l/_K145GRC42MQJ

6. Find the product

2 3 1
il 2 w9
3 X 37 X 2%

o Watch Video Solution

1
7. The cost of 1 pens is Rs 114 1 find the cost

of 19 pens

o Watch Video Solution



https://dl.doubtnut.com/l/_kOKF9RW6qZRe
https://dl.doubtnut.com/l/_nQ3lcxmjN1MP

8. A car moves at a uniform speed of 433 km
. _ .1
hour how much distance will it cover in 3§

hours

o Watch Video Solution

9. Find the reciprocal of

5

11

o Watch Video Solution



https://dl.doubtnut.com/l/_ljfSbUl6z5fB
https://dl.doubtnut.com/l/_VvMewGkuuAOA

10. Find the reciprocal of

1

o Watch Video Solution

11. Find the reciprocal of

1
213

o Watch Video Solution



https://dl.doubtnut.com/l/_HzwY2pGh7oCE
https://dl.doubtnut.com/l/_edqZ0AWKAFJQ

12. Find the reciprocal of

12 )
11

o Watch Video Solution

13. Simplify
17 3
16 4

o Watch Video Solution



https://dl.doubtnut.com/l/_ivbsqnxawq5p
https://dl.doubtnut.com/l/_kLZeuwVi9swh

14. Simplify

15‘3
¢

o Watch Video Solution

15. Simplify
11 . 99
120 °

o Watch Video Solution



https://dl.doubtnut.com/l/_5G7IlltfhyNO
https://dl.doubtnut.com/l/_dF9OPbeoI3Tn

16. Simplify

4
3—+5
7

o Watch Video Solution

17. Simplify
85 = L 322

o Watch Video Solution



https://dl.doubtnut.com/l/_h6M9nV17uAKk
https://dl.doubtnut.com/l/_Iv9sGaxtU72P

1
18. A cable o f length 257 Zm has to be cut

into 21 pieces o f equal length. Fin d the

length o f each piece.

o Watch Video Solution

1
19. A pile of notebooks is 14 7 cm thick. If each

3
notebook is 1 6 cm thick, then find the 4 16

number of notebooks in the pile

o Watch Video Solution



https://dl.doubtnut.com/l/_3gmH4ytRhugc
https://dl.doubtnut.com/l/_XLGh1JTQ4HVa
https://dl.doubtnut.com/l/_wK956vUmDNrA

1
20. If the product of two fractions is 16 9 and

2
one of the fractions is 4 o then find the

other fraction

o Watch Video Solution

1. Find the product

5><3
6 7

o Watch Video Solution



https://dl.doubtnut.com/l/_wK956vUmDNrA
https://dl.doubtnut.com/l/_wG7ax3ciTUVk

2.Find the product

T
18 7 14

o Watch Video Solution

3. Find the product

28><Z
8

o Watch Video Solution



https://dl.doubtnut.com/l/_CVBEHI5Z7Q81
https://dl.doubtnut.com/l/_CwdzRxiP1Vl1

4.Find the product

7><1
7

o Watch Video Solution

5. Find the product

N
25 * 17

o Watch Video Solution



https://dl.doubtnut.com/l/_dMRjg1zRMeuZ
https://dl.doubtnut.com/l/_dWeFMwx1xoPk

6. Find the product

11 ><73
13 7

o Watch Video Solution

7.Find the product

o Watch Video Solution



https://dl.doubtnut.com/l/_zZfvBrMGwC61
https://dl.doubtnut.com/l/_Nzy1YhiQQFqR

8.Find the product
1 7 11

o Watch Video Solution

9.Find the product

1 01 511
10 77013

o Watch Video Solution



https://dl.doubtnut.com/l/_HikmCU5Sgc2c
https://dl.doubtnut.com/l/_Cksnm5pnlgL9

10. Find the product

7193 92
1 %16 *°7

o Watch Video Solution

1
11. A car can travel 125 km in 1 litre of petro

how much distances can it travel in 423 litres

of petrol

o Watch Video Solution



https://dl.doubtnut.com/l/_qQElCMf6Mjj3
https://dl.doubtnut.com/l/_lRn0I6mAVT2G

3
12. A graphic designer charges Rs 27 5 for

each diagram. Find the amount he will charge

if he designs 186 diagrams for a book.

o Watch Video Solution

1
13.If a cloth costs Rs 715 7 Per metre, find the

2
cost of 33 metres of this cloth.

° Watch Video Solution



https://dl.doubtnut.com/l/_4djA2rkpQPDo
https://dl.doubtnut.com/l/_XHOCUIweYXce

14. Advertising in a magazine costs ? Rs 1472

2
5 per square inch. Find the cost of an
advertisement of 17 — ? square inch.

7

o Watch Video Solution

15. A car travelled from city A to city B with a
. 2 .

uniform speed of 52 z km per hour. Find the 3

"distance between the two cities, if it took 4 —

8

hours for the car to reach city B from city A.

o Watch Video Solution



https://dl.doubtnut.com/l/_ioQyjW7yS1t3
https://dl.doubtnut.com/l/_ZVe25dKHeeXm

16. The length of a rectangular plot of land is

3 8
29 - m. If its breadth is 12 I m, find its area.

o Watch Video Solution

1. Find the reciprocal of

13
17

o Watch Video Solution



https://dl.doubtnut.com/l/_ZVe25dKHeeXm
https://dl.doubtnut.com/l/_7aRE0gPNO4A2
https://dl.doubtnut.com/l/_imqXEuSC6NO2

2. Find the reciprocal of

3
313

o Watch Video Solution

3. Find the reciprocal of

217

o Watch Video Solution



https://dl.doubtnut.com/l/_QIl6PgTb7MSB
https://dl.doubtnut.com/l/_19jWO4ZZFab8

4.Find the reciprocal of

1
1024

o Watch Video Solution

5. Find the reciprocal of

31
3

o Watch Video Solution



https://dl.doubtnut.com/l/_ntuGUe8no3EX
https://dl.doubtnut.com/l/_V6NK7zDz1Wk1

6. Find the reciprocal of

11 .
11

o Watch Video Solution

7.Find the reciprocal of

1 1
2

o Watch Video Solution



https://dl.doubtnut.com/l/_Vb02CAWVd61g
https://dl.doubtnut.com/l/_A4xD6joivcHt

8. Find the reciprocal of

125 !
8

o Watch Video Solution

9. Divide
1 1
2 3

o Watch Video Solution



https://dl.doubtnut.com/l/_KOo0X4Oth2yT
https://dl.doubtnut.com/l/_9OYde0ZnJXsq

10. Divide
3 11

14 ° 42

o Watch Video Solution

11. Divide
1= 62
"3

o Watch Video Solution



https://dl.doubtnut.com/l/_FlxIMbSXokCd
https://dl.doubtnut.com/l/_xtqi5T5WiZg7

12. Divide

131'10
3~

o Watch Video Solution

13. Divide
o 1 5
12 ° 36

o Watch Video Solution



https://dl.doubtnut.com/l/_GLnUgovIcLSj
https://dl.doubtnut.com/l/_QXdTC3K6hsQD

14. Divide

o Watch Video Solution

15. Divide
20 ”
31 °

o Watch Video Solution



https://dl.doubtnut.com/l/_bRE9BLxpzbRw
https://dl.doubtnut.com/l/_8UcCuoOj5mmT

16. Divide

4 23
93732—5

o Watch Video Solution

17. Divide
32 L. 83
2 " 4

o Watch Video Solution



https://dl.doubtnut.com/l/_MUhbjFoA9M3Z
https://dl.doubtnut.com/l/_2KkzsUtkfMHh

18. Divide

81 16
o1~ 7

o Watch Video Solution

19. Divide
3 . g 1
16 7

o Watch Video Solution



https://dl.doubtnut.com/l/_zjOt6I1n9ToM
https://dl.doubtnut.com/l/_JzfDuCRTDayg

20. Divide

311 .193
15 ° 5

o Watch Video Solution

9
21. By what fraction should %5 be multiplied

to et7
8¢ 15

o Watch Video Solution



https://dl.doubtnut.com/l/_pLemepuRpUZq
https://dl.doubtnut.com/l/_pSVu4OKZMMTw

1
22. If the cost of 6 7 m of cloth is Rs 1421 ;

then find the cost of 1 metre of cloth

° Watch Video Solution

5
23. How many pieces of length 3 - m each can

be cut from a wall paper 52 m long

o Watch Video Solution



https://dl.doubtnut.com/l/_IZWPHjmGntE1
https://dl.doubtnut.com/l/_tsnusjx5NNMb

24. A log of wood 6 - m in length, was cut

into 11 pieces. What is the length of each

piece?

o Watch Video Solution

25. A car covers 641 1 km in 43 § litres of

fuel. How much distance can this car cover in 1

litre of fuel?

o Watch Video Solution



https://dl.doubtnut.com/l/_4TDPvgKJpR2O
https://dl.doubtnut.com/l/_9kAaZP6Zc6Cm
https://dl.doubtnut.com/l/_KJymloOIVrsL

26. The area of a rectangular plot of land is 817

4 3
= sg. m. If its breadth is 21Z m, find its

length.

o Watch Video Solution

7
27. The area of a sheet of paper is 6231—0 sg.

cm. If its length is 291—70 cm, find its width.

° Watch Video Solution



https://dl.doubtnut.com/l/_KJymloOIVrsL
https://dl.doubtnut.com/l/_7k65oSIC3By9

28. A bundle of 500 sheets of paper has a net
3
weight of 2 0 kg. Find the weight of 1 sheet

of paper.

o Watch Video Solution

29. A car travels 2835 km in 4§ hours. How

far does this car go in 1 hour, travelling at the

same speed?

o Watch Video Solution



https://dl.doubtnut.com/l/_oiye5N4q8Y3m
https://dl.doubtnut.com/l/_aqypciAuC1IM
https://dl.doubtnut.com/l/_DpjvyVGcNIaQ

30. The product of two fractions is 82—75 If one

1
of them is 31—5 , find the other.

o Watch Video Solution

123+14+32
5 5 5

>
|
q

o
I
\]
ol w o g

0
|
\]


https://dl.doubtnut.com/l/_DpjvyVGcNIaQ
https://dl.doubtnut.com/l/_2s45MJm5l7KK

Answer: B

o Watch Video Solution

N
ot
N @ > ©| o
| 1 | |
= — — bo
:|Mwlw NIEC S = |
I
—
| —

o
|
ot


https://dl.doubtnut.com/l/_2s45MJm5l7KK
https://dl.doubtnut.com/l/_ErIzBMvuTYsM

Answer: C

o Watch Video Solution

322 47 432
"4 76 "3

o Watch Video Solution

4, What should be subtracted
9 22 . . 2 ,
1—5 —+ E o ge 2—5.

13
A =2—
15

from


https://dl.doubtnut.com/l/_ErIzBMvuTYsM
https://dl.doubtnut.com/l/_04LNHEV9q3j2
https://dl.doubtnut.com/l/_dMYqpdbpygfp

B. = 2—3

c. =22

25

p. = 220

25
Answer: D

o Watch Video Solution

5. A milk vendor was selling milk to customers
- 4 :
from a vessel containing 123 litres of milk. He

sold of 115 litres and then refilled the vessel


https://dl.doubtnut.com/l/_dMYqpdbpygfp
https://dl.doubtnut.com/l/_XoIR62hddBUR

4
with 91—5 litres of milk again. How much milk

is available with the vendor now?

17 .
A = 8% litres

B. = 11;—3 litres

1
C. = 103—3 litres

D. = 101—7 litres
57

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_XoIR62hddBUR

1
6. Evaluate: 1 X 3

o >
| w | = oo w o] w

N

o

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_Ljc2gThzOdrp

2
7. Evaluate: 5 X 4

|t ooy oo |

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_1Z8BusyGhxkj

8. Evaluate: 4 x 5

1
B. 75
1
C. 73

D61
5

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_4pfHQcTeqIl4

3
9. Evaluate: 6 x 3Z

A 22—
B. 22—
C.21—

D. 23—

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_eQhfC5Ca7Z5b

, 3 2
10. Multiply: 1 X 9

N~ o o=k o] ot

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_vclNHKW7fVR7

11. Find: 1O>< ’
. Find: a. 51 B

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_eLAbYETGlHwh

12.Find: b 15>< 4
.|n..16 51

o Watch Video Solution

. 4 35
13.Find: c. 3— x —
5) 38

A 33

)

B 31

b}

1

C.3—

H

D31
4


https://dl.doubtnut.com/l/_m20N6PGNacBU
https://dl.doubtnut.com/l/_cgUBMrUEMo7T

Answer: B

o Watch Video Solution

: 4 3
14.Find: d. 4— X 5—
7 5

A 25

]
B.25—
C.25—

D. 25—

Answer: D


https://dl.doubtnut.com/l/_cgUBMrUEMo7T
https://dl.doubtnut.com/l/_7krdi7cYYmoJ

° Watch Video Solution

5
15.Find: a. 12 x —
ind: a X 51

A 2—

B.2—

C.9—

D. 15—

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_7krdi7cYYmoJ
https://dl.doubtnut.com/l/_n6elIucRyp3o

5%
16. Find: b. —
in 7 X 19

>

S|t g|lw oot g o

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_n6elIucRyp3o
https://dl.doubtnut.com/l/_6Umo3dd0fbzo

17. Find: c. 5% X 6

o Watch Video Solution

18. Sujay eats 2— packets of cookies in a day.

3
How many packets of cookies will he eat in
171 days?
E ays!
A = 86—
B. = 46—


https://dl.doubtnut.com/l/_kGEboCSBiqvt
https://dl.doubtnut.com/l/_h9JcUbk4FtSs

Answer: D

° Watch Video Solution

2
19. Sakshi's car travels 163 km per litre of

1
petrol. She fills 28§ litres of petrol in the car.

How much distance can the car cover?

2
2
B. = 464— km

7


https://dl.doubtnut.com/l/_h9JcUbk4FtSs
https://dl.doubtnut.com/l/_ZVDN52feKAhD

2

2

Answer: C

O Watch Video Solution

2
20. Find: a. 5 of 3 hours

A. 2 hour 12 minutes
B. 1 hour 32 minutes

C. 1 hour 12 minutes


https://dl.doubtnut.com/l/_ZVDN52feKAhD
https://dl.doubtnut.com/l/_TcuYSwOuWlGl

D. 1 hour 38 minutes

Answer: C

o Watch Video Solution

3
21.Find: b. 1 of 3 km

A.2km 250m
B.1km 250m
C.2 km 500 m

D.1 km 500 m


https://dl.doubtnut.com/l/_TcuYSwOuWlGl
https://dl.doubtnut.com/l/_E8LfqfA936ED

Answer: A

o Watch Video Solution

2
22. Find: c. 3 of 2 years

o Watch Video Solution

23. What fraction is 3L 150mL of 7L 350mL?

N w ] ©



https://dl.doubtnut.com/l/_E8LfqfA936ED
https://dl.doubtnut.com/l/_F3D60dHnCisV
https://dl.doubtnut.com/l/_zaYX56YQqN3c

N

o
| w =] oo

Answer: B

° Watch Video Solution

24. Which i t 3f1 2f5?
-Which is greater: = of - or = of =

o
*

N o o w
o
*
| ot | =

C. Both are equal


https://dl.doubtnut.com/l/_zaYX56YQqN3c
https://dl.doubtnut.com/l/_7kpewmq1gUUL

D. Cannot be determined

Answer: B

o Watch Video Solution

25. One-third of the students of a class have
chosen to play cricket. One-half of the
students who have chosen to play cricket have
also opted for painting classes. What fraction
of students of the class have opted for

painting class? If there are 30 students in the


https://dl.doubtnut.com/l/_7kpewmq1gUUL
https://dl.doubtnut.com/l/_OehDQyCIKMoh

class, how many students have opted for a.

cricket? b. painting class?

A. a. =15 students.

b. =5 students.

B. a. =10 students.

b. =5 students.

C. a. =5 students.

b. =5 students.

D. a. = 10 students.

b.=9 students.


https://dl.doubtnut.com/l/_OehDQyCIKMoh

Answer: B

o Watch Video Solution

26. Fill in the boxes with < or > without

actually finding the required product.

.9 6 5 ) 6 6
a.|.§><7D§ ZZ.§X7D7

o Watch Video Solution

27. Fill in the boxes with < or > without

actually finding the required product.


https://dl.doubtnut.com/l/_OehDQyCIKMoh
https://dl.doubtnut.com/l/_cFspJMJfwMyU
https://dl.doubtnut.com/l/_f3OkAtzQekVy

b i 2D7 7 2D2
. 1. Xg Z Z'L.ZXg g

> =3

o Watch Video Solution

28. Fill in the boxes with < or > without

actually finding the required product.

9 4 9 9
c.i.— X =0 = ii.—><£|jé
5 3 5 5 3 3

o Watch Video Solution

5
29. Find the reciprocal of 37.


https://dl.doubtnut.com/l/_f3OkAtzQekVy
https://dl.doubtnut.com/l/_iEplxulRwj2y
https://dl.doubtnut.com/l/_Ozrvq4dNF7c2

Answer: A

° Watch Video Solution

1
30. Evaluate: 1 = 3

A. 6


https://dl.doubtnut.com/l/_Ozrvq4dNF7c2
https://dl.doubtnut.com/l/_Bpofz5qvxWDU

B.3

C.1

D.9

Answer: B

o Watch Video Solution

2
31. Evaluate: 2 = g

A3

B.5


https://dl.doubtnut.com/l/_Bpofz5qvxWDU
https://dl.doubtnut.com/l/_Arxjj3HxWA6q

C.7

D. 6

Answer: A

° Watch Video Solution

1
32. Evaluate: — =+~ —
vauae2 1

° Watch Video Solution

33. Evaluat 11‘1
-Bvaluate: 15+ &


https://dl.doubtnut.com/l/_Arxjj3HxWA6q
https://dl.doubtnut.com/l/_2vWdIbOa14Gv
https://dl.doubtnut.com/l/_D6AAG4wA0tDA

A 8—

B.7T=

C.7T=

D.9—

Answer: C

° Watch Video Solution

34Elt21‘3
-Evaluate: 25 + =

° Watch Video Solution



https://dl.doubtnut.com/l/_D6AAG4wA0tDA
https://dl.doubtnut.com/l/_gJ2k2flXQX59

3
35. Evaluate: 5 =2

° Watch Video Solution

5
36.Find — + 4.
ind —

° Watch Video Solution

37.Find 34 = IT7

AT


https://dl.doubtnut.com/l/_gJ2k2flXQX59
https://dl.doubtnut.com/l/_tIYEpDlLu7Fd
https://dl.doubtnut.com/l/_4UFjxdncWtei
https://dl.doubtnut.com/l/_moSQCzTC87aR

B.8

C.5

D.9

Answer: B

o Watch Video Solution

38.Find 7 = 2%.

o Watch Video Solution



https://dl.doubtnut.com/l/_moSQCzTC87aR
https://dl.doubtnut.com/l/_pemM7fX8U8Dt
https://dl.doubtnut.com/l/_ADMYPCq0M56s

39. The total weight of 27 boxes of sweets is

1
ZOZ kg. If each box weighs the same, find the

weight of each box.

o Watch Video Solution

40F'd3'9
.|nz.§

o Watch Video Solution

41.Find = + 82
. FIN 1—5.§

I o Watch Video Solution


https://dl.doubtnut.com/l/_ADMYPCq0M56s
https://dl.doubtnut.com/l/_Dop81FBp55zS
https://dl.doubtnut.com/l/_GUojGlHxcIw1

3 1
42. Suman buys 2Z kg of rice for Rs. 1265
1 1
and Madhu buys 45 kg of rice for Rs. 1665.

Who has bought rice at a lower price and by

how much?

o Watch Video Solution

, 7 3 5

o Watch Video Solution



https://dl.doubtnut.com/l/_GUojGlHxcIw1
https://dl.doubtnut.com/l/_laoVI6ovC3L3
https://dl.doubtnut.com/l/_He5vZoO4MOvn
https://dl.doubtnut.com/l/_r8z1IvlE76Ty

: 6 77 19
44, Find: (11 X 48) T

o Watch Video Solution

, 121 4\ 35
45. F|nd. (ﬂ X H) o ?

° Watch Video Solution

46. Evaluate: 3 of i - 6l
7 10 5

1

A= omr


https://dl.doubtnut.com/l/_r8z1IvlE76Ty
https://dl.doubtnut.com/l/_AEZRLW9g3ysG
https://dl.doubtnut.com/l/_EesEt0k80uQf

B — 1
T 219
c — 3
217
D= 317
Answer: A

o Watch Video Solution

47F.d'21><30—|_5
NG T N 9 T T

o Watch Video Solution



https://dl.doubtnut.com/l/_EesEt0k80uQf
https://dl.doubtnut.com/l/_K4Ur3VFzocRo
https://dl.doubtnut.com/l/_uwCBgRyClA9c

48.Find: — 475 2 . y]
.|n.4 4X15—2

o Watch Video Solution

49. Solve: 7><6 L. 2
.OVG.E E ETE

° Watch Video Solution

50. Evaluate: v LB + 7 1
.Vauae.ﬁ.ﬂ §X7

O Watch Video Solution



https://dl.doubtnut.com/l/_uwCBgRyClA9c
https://dl.doubtnut.com/l/_dSnGeNGRvy8f
https://dl.doubtnut.com/l/_CcV2AYs9r9gl
https://dl.doubtnut.com/l/_vxgreeumWhlX

2
51. A rope of length 14g m is cut into 12 equal
pieces. Find the length of each piece. Also, find
the length of a new rope formed by joining 20

such equal pieces.

o Watch Video Solution

1
52. A shopkeeper sells a pencil for Rs. 5Z° He
1
makes a total of Rs. 44GZ by the end of the
day. If the pencils came in boxes of 15 each,

how many boxes has he sold by the end of the

day?



https://dl.doubtnut.com/l/_vxgreeumWhlX
https://dl.doubtnut.com/l/_6iEElk88PSvE

\ o Watch Video Solution

1. Evaluate:a. 7— + 3— — 6—
valu 30 —+

17 3 6
11 11

° Watch Video Solution

5 5 7
2. Evaluate: b. 5ﬁ — 1E — 2ﬂ

° Watch Video Solution



https://dl.doubtnut.com/l/_6iEElk88PSvE
https://dl.doubtnut.com/l/_PxQQ1ptYADYi
https://dl.doubtnut.com/l/_BZszVrGqzFao
https://dl.doubtnut.com/l/_P545CUZUn7AM

3. An insect is crawling up on a vertical wall. It

11
crawls up 12; inch. Then it slips back Sﬁ

1
inch and then again crawls up 5E inch. How
far is it from the starting point?
A. 11i inch
25
2
B. 125 inch
2
C. 14ﬁ inch

D. 13i inch
28

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_P545CUZUn7AM

4, Evaluate: a. 9 x —
valuate: a 7

o Watch Video Solution

9
5.Evaluate: b. 11 x —
valuate X 11

o Watch Video Solution

5
6. Evaluate: c. 47 X 3

[ o Watch Video Solution



https://dl.doubtnut.com/l/_P545CUZUn7AM
https://dl.doubtnut.com/l/_p7p9rn87Iq9l
https://dl.doubtnut.com/l/_UZpWpVrjw9hG
https://dl.doubtnut.com/l/_mPRBHSr0oGf6

14 20
. E . d.
7. Evaluate: d o X 19

o Watch Video Solution

5 24
8. Evaluate: e. 3— X —
vauaee38><25

o Watch Video Solution

.E . .

[ o Watch Video Solution



https://dl.doubtnut.com/l/_mPRBHSr0oGf6
https://dl.doubtnut.com/l/_nQQ5FxSkxAoY
https://dl.doubtnut.com/l/_N2p7xG1eHy1m
https://dl.doubtnut.com/l/_tXW1S6Gwb27Z

10. Thirty-six students are going on a school

1
trip. One student's ticket costs Rs. 925. How

much will all the tickets cost?

° Watch Video Solution

3
11. Find: a. 5 of 4 kg

° Watch Video Solution



https://dl.doubtnut.com/l/_tXW1S6Gwb27Z
https://dl.doubtnut.com/l/_gjGbEwkRNRd9
https://dl.doubtnut.com/l/_miVMsMG3f7uJ

, 3
12. Find: b. T2 of 3 weeks

o Watch Video Solution

2
13. Find: c. — of
3. Find: c 110550

o Watch Video Solution

14. What fraction is Rs. 1750 of 2800?

o Watch Video Solution



https://dl.doubtnut.com/l/_MHvTxNBo0IoW
https://dl.doubtnut.com/l/_7JnjsoEWMXnh
https://dl.doubtnut.com/l/_YSC2H4pBzEYV

15. Which i ter: — of — or — of —?
. r r: ‘
ich is greater: o= of = or — o

o Watch Video Solution

1
16.1n a group of 40 guests at a party. 5 of the

total number of guests opted for tomato
soup, — of the guests chose to have vegetable
soup, and the rest had fruit juice. Find the

number of guests who had:

a. tomato soup

° Watch Video Solution



https://dl.doubtnut.com/l/_dEyKvYbq0xKo
https://dl.doubtnut.com/l/_NPTGXEhc0Uhw

17.1n a group of 40 guests at a party. % of the
total number of guests opted for tomato
soup, — of the guests chose to have vegetable
soup, and the rest had fruit juice. Find the
number of guests who had:

b. vegetable soup

o Watch Video Solution

1
18.In a group of 40 guests at a party. 5 of the

total number of guests opted for tomato


https://dl.doubtnut.com/l/_NPTGXEhc0Uhw
https://dl.doubtnut.com/l/_yxt4jYmitOzQ
https://dl.doubtnut.com/l/_AKBzIXRdBIm5

soup, - of the guests chose to have vegetable
soup, and the rest had fruit juice. Find the
number of guests who had:

c. fruit juice

° Watch Video Solution

2
19. Find the reciprocal of: 1. 9

° Watch Video Solution

20. Find the reciprocal of: 2. 7


https://dl.doubtnut.com/l/_AKBzIXRdBIm5
https://dl.doubtnut.com/l/_KdCcxUK9MXoN
https://dl.doubtnut.com/l/_MJv2clt6Oken

° Watch Video Solution

3
21. Find the reciprocal of: 3. 53

° Watch Video Solution

11

22. Find the reciprocal of: e

° Watch Video Solution

23. Find the reciprocal of: 0


https://dl.doubtnut.com/l/_MJv2clt6Oken
https://dl.doubtnut.com/l/_FAoG8EVVJmnB
https://dl.doubtnut.com/l/_fq5pzcxiWFB3
https://dl.doubtnut.com/l/_Y67106O1P40b

° Watch Video Solution

3
24. Evaluate: a. z =9

° Watch Video Solution

25. Evaluate: b. 4 - 10
-Evaluate: b. 4 + o5

° Watch Video Solution

3
26. Evaluate: c. 28 =~ 1—
vaiuate: C 11


https://dl.doubtnut.com/l/_Y67106O1P40b
https://dl.doubtnut.com/l/_1MjqmYgEPv9L
https://dl.doubtnut.com/l/_JODpk4CqAIvt
https://dl.doubtnut.com/l/_TaIQY06RGZDc

° Watch Video Solution

2
27. Evaluate: d. 6§ = 36

° Watch Video Solution

28. Evaluat 4.3
.Evaluate:e. — - —
9 6

° Watch Video Solution

5 3
29. Evaluate: f. — - —
8 64


https://dl.doubtnut.com/l/_TaIQY06RGZDc
https://dl.doubtnut.com/l/_UVHIZMmWlUXp
https://dl.doubtnut.com/l/_CiMotFoafbUE
https://dl.doubtnut.com/l/_tSf7IRjzH5j9

° Watch Video Solution

13 4
30. Evaluate: g. 7 - 57

° Watch Video Solution

31. Eval t-h67' 1
. Evaluate: h. PR

° Watch Video Solution



https://dl.doubtnut.com/l/_tSf7IRjzH5j9
https://dl.doubtnut.com/l/_pUj6KCtHgpg6
https://dl.doubtnut.com/l/_i4B6Xg5X15ck

1
32. The price of one orange is Rs. 132. Divya

buys oranges for Rs. 1855. How many oranges

did she buy?

o Watch Video Solution

33. Evaluate: ! 6.1
-Evaluate: a. & AT

° Watch Video Solution

3 1 10
34.Evaluate: b. — of | 4— x —
4 H 7


https://dl.doubtnut.com/l/_LqcVZkXZS4PM
https://dl.doubtnut.com/l/_qgmaGeFqfX2g
https://dl.doubtnut.com/l/_SkgsXj7DJHuU

° Watch Video Solution

5 3

1
35.Evaluate: ¢.5— x 3— + 1= + H—

1 6 5}

1
3

° Watch Video Solution

° Watch Video Solution



https://dl.doubtnut.com/l/_SkgsXj7DJHuU
https://dl.doubtnut.com/l/_blOAHCWxxmT4
https://dl.doubtnut.com/l/_sdZovGxbNAaT

37. Naman has to serve 2Z litres of soft drink

in cups of 3 litre. How many cups can he

serve? Will there be any soft drink left over?

o Watch Video Solution

Warm Up Exercise

1. Write the following divisions as fractions.

a. 537 + 1000 =

o Watch Video Solution



https://dl.doubtnut.com/l/_QBSoaYvJ7rEK
https://dl.doubtnut.com/l/_To1SsyoLoeC7

2. Write the following divisions as fractions.

° Watch Video Solution

3. Write the following fractions as divisions.

3_
T

o Watch Video Solution



https://dl.doubtnut.com/l/_To1SsyoLoeC7
https://dl.doubtnut.com/l/_zAHDkp9OzURX
https://dl.doubtnut.com/l/_wmTbSvY95FZ0

4. Write the following fractions as divisions.

o Watch Video Solution

5. What fraction is 300 mL of 1L?

o Watch Video Solution

6. Which of the following are proper and

improper fractions?


https://dl.doubtnut.com/l/_3koJpzacKdvX
https://dl.doubtnut.com/l/_1TCmCVBQ7Yo9
https://dl.doubtnut.com/l/_63lX4zwMcY0J

a4
3

o Watch Video Solution

7. Which of the following are proper and

improper fractions?

L8
9

o Watch Video Solution

8. Which of the following are proper and

improper fractions?


https://dl.doubtnut.com/l/_63lX4zwMcY0J
https://dl.doubtnut.com/l/_gXO6eiwme2hn
https://dl.doubtnut.com/l/_Gv0uev5a7C5P

6
5

o Watch Video Solution

9. Which of the following are proper and

improper fractions?

dO
T 12

o Watch Video Solution

10. Write as mixed fraction:

a24
"5


https://dl.doubtnut.com/l/_Gv0uev5a7C5P
https://dl.doubtnut.com/l/_pgefdLQUPiFj
https://dl.doubtnut.com/l/_7CJCziojLk8a

° Watch Video Solution

11. Write as mixed fraction:

b36
7

o Watch Video Solution

12. Find an equivalent fraction of 1 with:

a. denominator 20.

° Watch Video Solution



https://dl.doubtnut.com/l/_7CJCziojLk8a
https://dl.doubtnut.com/l/_KVOqKLPL31UB
https://dl.doubtnut.com/l/_8ymmn0LHy4BF
https://dl.doubtnut.com/l/_ffzVvowrsA28

13. Find an equivalent fraction of 1 with:

b. numerator 12.

o Watch Video Solution

21 xT

14. Evaluate: =
valuate 60 10

o Watch Video Solution

15. Reduce 128 to its simplest form.

o Watch Video Solution



https://dl.doubtnut.com/l/_ffzVvowrsA28
https://dl.doubtnut.com/l/_t9QfWTBcVDxE
https://dl.doubtnut.com/l/_jdPh51RrYwRw

5
16. Express as like fractions: 18

o Watch Video Solution

17. Compare the fractions:

° Watch Video Solution



https://dl.doubtnut.com/l/_jdPh51RrYwRw
https://dl.doubtnut.com/l/_y83FqaECkdsd
https://dl.doubtnut.com/l/_ynsez4wwneZx

18. Compare the fractions:

7 _ 13
b.§D1—5

o Watch Video Solution

19. Compare the fractions:

o Watch Video Solution



https://dl.doubtnut.com/l/_9dGCj3zPIDkg
https://dl.doubtnut.com/l/_qcUW8xOyf5PP

9
20. Arrange —, —, —, =, —

order.

in ascending

o Watch Video Solution

21. Evaluat 12 8
. Evaluate: a. 17 + 17

o Watch Video Solution

22.Eval t°b25—|—37
- Evaluate: b. 2.5 15

o Watch Video Solution



https://dl.doubtnut.com/l/_zf9x8fvgUHvV
https://dl.doubtnut.com/l/_GE4d8C4sQtTN
https://dl.doubtnut.com/l/_PvewfO6mJFkQ

11 7
23.Evaluate: c.4— — 2—
15 20

o Watch Video Solution

24. Ajay had 3 bars of chocolate. He gave

1 — 1 to his sister. How much chocolate is left

with him?

o Watch Video Solution



https://dl.doubtnut.com/l/_PvewfO6mJFkQ
https://dl.doubtnut.com/l/_z5645qXAiRDp
https://dl.doubtnut.com/l/_cLYKDK64gNz8

1. Evaluat 82—|—115—|—21
-Evaluate: a. 8- - -

° Watch Video Solution

2. Eval t-b56 25 12
- Evaluate: b. 5 5 3

° Watch Video Solution

3EIt-23 52 43
. Evaluate: c. 14—|— 7— 1

| s


https://dl.doubtnut.com/l/_3vLvuABZGFeI
https://dl.doubtnut.com/l/_Qr3NbgoACueQ
https://dl.doubtnut.com/l/_iXtS1Rnt2aIc

¥ Watch Video Solution

4. Eval t-d79 22 14
-Evaluate: d. 7+ 5 5

° Watch Video Solution

1 4 2
5.Evaluate:e.7— + 8— — 9—
6 5 3

° Watch Video Solution

5

1 9
6. Evaluate: f. 125 — 3ﬁ + 47

| s


https://dl.doubtnut.com/l/_iXtS1Rnt2aIc
https://dl.doubtnut.com/l/_KYxO7YjNEOJv
https://dl.doubtnut.com/l/_PL0AAtUq2FsP
https://dl.doubtnut.com/l/_zAbM37ufiYJ5

¥ Watch Video Solution ]

7. What should be subtracted from
5 N 3 ; ; 1?
ViR o ge 5

° Watch Video Solution

8. From what should (i

|
_|_
|
—
o

5
subtracted to get 5 ?

° Watch Video Solution



https://dl.doubtnut.com/l/_zAbM37ufiYJ5
https://dl.doubtnut.com/l/_q0uWdlH4wLCA
https://dl.doubtnut.com/l/_HFGEYsQMyltM
https://dl.doubtnut.com/l/_KFaDi2ZoYla3

9. Simran put % kg of sweets, 2 kg of milk, and

2
1§ kg of fruits in her bag. How much did her

bag weigh now?

1
A 4—k
R

B42k
45 ke

C45k
Az kg

D43k
-4 kg

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_KFaDi2ZoYla3
https://dl.doubtnut.com/l/_y29qO1fyJ9F0

10. Monica is taking tennis lessons. She
practiced for 65 hours in the first week and

76 hours in the second week. Find the total

number of hours she practiced.

A1913 h
1975 br

B 1311 h
1373 r

C 1215 h
125 hr

D 1413 h
T r

Answer: D

‘ o Watch Video Solution


https://dl.doubtnut.com/l/_y29qO1fyJ9F0

11. Monica is taking tennis lessons. She
practised for 65 hours in the first week and
76 hours in the second week. Find:

b. the week in which she practised more and

by how much?

o Watch Video Solution

12. A centipede was crawling in a straight line.

First it crawled for 87 inch, then it crawled in


https://dl.doubtnut.com/l/_y29qO1fyJ9F0
https://dl.doubtnut.com/l/_DZHHLoJeolTr
https://dl.doubtnut.com/l/_FPlYgblgiRxm

5
the reverse direction for 5§ inch. Once again
it reversed direction and crawled for 115 inch

in the original direction. How far away was it

finally from the starting point?

O Watch Video Solution

2
13. Anjali had read 3 of the book when she sat
in her school bus. 1 of the book was left when

she got off from the bus. How much did she

read in the bus?

° Watch Video Solution



https://dl.doubtnut.com/l/_FPlYgblgiRxm
https://dl.doubtnut.com/l/_QBSrF0WQAvmd

1
14. Meghna bought 6§m of cloth for making

curtains and 4—m of cloth for making table

5
cloth. How much cloth did she purchase in all?
3
When she reached home she saw SZm of

cloth for curtains was spoiled and 2€m of
table cloth was torn. How much cloth was she
left with each for making curtains and table

cloth?

° Watch Video Solution



https://dl.doubtnut.com/l/_QBSrF0WQAvmd
https://dl.doubtnut.com/l/_OPIUuTAN7vSD

1. Evaluate: a. 21 x ﬁ
49

° Watch Video Solution

5
2. Evaluate: b. 47 X 3

° Watch Video Solution

14 20
3. Evaluate: c. X
25 49

| s


https://dl.doubtnut.com/l/_sIfR9DpszWEA
https://dl.doubtnut.com/l/_dPKZCkz8TQPo
https://dl.doubtnut.com/l/_Yx88ah4uw6Si

¥ Watch Video Solution

4, Evaluate: d.3§ X %

49

° Watch Video Solution

11

7
5.Evaluate: e.3— x 1—
vauaee39>< 5%

o Watch Video Solution

3 3
6. Evaluate: f. 3 x 77$3ﬁ

| oo


https://dl.doubtnut.com/l/_Yx88ah4uw6Si
https://dl.doubtnut.com/l/_UXR7ckalNOPQ
https://dl.doubtnut.com/l/_Y59otuyXwvLA
https://dl.doubtnut.com/l/_uIkOFKFDIrH5

| & Watch Video Solution

7. Evaluat 51 81 23
-Evaluate: g. 55 X 87 X 2+

o Watch Video Solution

8EIth5>< 13><1
valuates - 96 < 35 * 15

o Watch Video Solution

2
9.Find : a. 8 of 3 kg 600 g

| e


https://dl.doubtnut.com/l/_uIkOFKFDIrH5
https://dl.doubtnut.com/l/_KEWb10pQSlqJ
https://dl.doubtnut.com/l/_JRfx49Hqk5On
https://dl.doubtnut.com/l/_Tf19zfSvYmQO

| & Watch Video Solution

5
10.Find : b. 8 of 1 week 4 days

o Watch Video Solution

M. Fillin < or > sign in the boxes without

actually carrying out the multiplication.

3 2 2 3 23
a.|.ﬁ><§D§ ’I,Z.HX§DH

o Watch Video Solution



https://dl.doubtnut.com/l/_Tf19zfSvYmQO
https://dl.doubtnut.com/l/_ypISJq7veXja
https://dl.doubtnut.com/l/_zKrBjSiz9moT
https://dl.doubtnut.com/l/_WSRsRsvEkNiI

12.Fill in < or > sign in the boxes without

actually carrying out the multiplication.

b.
9 8 9 9 8 8
3X1—3Dg ZZ.EX1—3D1—3

o Watch Video Solution

13.Fill in < or > sign in the boxes without

actually carrying out the multiplication.

6 1 11 6 6
"3 53 3 55

o Watch Video Solution



https://dl.doubtnut.com/l/_WSRsRsvEkNiI
https://dl.doubtnut.com/l/_egigFWgU3QiO
https://dl.doubtnut.com/l/_V3kw4pzAW2U7

1
14. a. What fraction is 300 mL of 15 litres?

O Watch Video Solution

1
15. b. What fraction of 25 days is 12 hours?

O Watch Video Solution

16. Which i t-5 f3 > fll?
-Which is greater: — of - or -5 of =

O Watch Video Solution



https://dl.doubtnut.com/l/_V3kw4pzAW2U7
https://dl.doubtnut.com/l/_BBTXVK35Sez5
https://dl.doubtnut.com/l/_E3AHspMcK7Le
https://dl.doubtnut.com/l/_Clu88YudrqNW

5
17. Write the reciprocal of: a. —

8

O Watch Video Solution

17
18. Write the reciprocal of: b. —

7

O Watch Video Solution

19. What kind of a fraction is the reciprocal of

an improper fraction?

o Watch Video Solution



https://dl.doubtnut.com/l/_Clu88YudrqNW
https://dl.doubtnut.com/l/_GqXROrEcbJpy
https://dl.doubtnut.com/l/_0zFj9A2kF75A

20. Can any fraction have a natural number as

its reciprocal?

° Watch Video Solution

. 45 7
21. A number when divided by 34—9 gives -

Find number.

o Watch Video Solution



https://dl.doubtnut.com/l/_0zFj9A2kF75A
https://dl.doubtnut.com/l/_e0bJDXOfTAjl
https://dl.doubtnut.com/l/_LYlCSwHPiaWM

22. A children's park is in shape of a rectangle
. 1 . 6 .
with length 4§m and width 37m. Find its

area.

L.

L

o Watch Video Solution

1
23. A train is moving at a speed of 553 km/h.
The train travels at the same speed for 6 hours
40 minutes. What is the distance covered by

the train?

| & I


https://dl.doubtnut.com/l/_LMkNswAfe69g
https://dl.doubtnut.com/l/_6hMjcB1XQgWu

| ¥ Watch Video Solution |

1
24. Mohit uses 3 of his ink cartridge every day.

How much cartridge will he use in the months

of July and August?

o Watch Video Solution

25. Ashu cleaned 3 of the room in 1 hour.
2
What part of the room will he clean in 2§

hours?

o Watch Video Solution



https://dl.doubtnut.com/l/_6hMjcB1XQgWu
https://dl.doubtnut.com/l/_3MVczr3wLsSW
https://dl.doubtnut.com/l/_XxMOq3KIJwPt

26. Madhav and Daksh bought 4 litres of
orange juice. Madhav drank 5 of the juice and
Daksh finished the rest. How many litres of

juice did Daksh drink?

o Watch Video Solution

1.Find: a. 30 -~ —

45
11



https://dl.doubtnut.com/l/_XxMOq3KIJwPt
https://dl.doubtnut.com/l/_PIkhOI5C6bwf
https://dl.doubtnut.com/l/_JJ4vohUOXwWp

Watch Video Solution

5
2.Find: b. 206 <+ 15

o Watch Video Solution

y e 16 36
.|n.c.25 . 15

o Watch Video Solution

16
35

4.Find: d. 4 =
25



https://dl.doubtnut.com/l/_JJ4vohUOXwWp
https://dl.doubtnut.com/l/_4XasyaMetDp7
https://dl.doubtnut.com/l/_ZyowfiaQmGwg
https://dl.doubtnut.com/l/_36HzZMyCBOh4

Watch Video Solution

5. Find: e. E - 11—4
32 35

o Watch Video Solution

6. Find: f. 11—3 - 1E
5 7

o Watch Video Solution

7 Simoli 4 36 1
. Simplify : a. T o) 32



https://dl.doubtnut.com/l/_36HzZMyCBOh4
https://dl.doubtnut.com/l/_2QDxSVuoLNFY
https://dl.doubtnut.com/l/_gLPzkDSf7DpC
https://dl.doubtnut.com/l/_qbRIDghs7JfY

\ ° Watch Video Solution

8. simplify:b. = + (— x —
.|p|fy..9. 10 D

° Watch Video Solution

9. Simplify : 3f 1><32
. Simplify : c. = ot | 15 =

o Watch Video Solution

10. Simplify : d ! f 11 '71
.|mp|fy..6o 9 5


https://dl.doubtnut.com/l/_qbRIDghs7JfY
https://dl.doubtnut.com/l/_ODyb0Er5RAJu
https://dl.doubtnut.com/l/_3qiYo7KqmfvE
https://dl.doubtnut.com/l/_6xjQKtedwcdJ

° Watch Video Solution

11.Si |'°51><3 7'21
. Implfy.e. g § §T 1—0

° Watch Video Solution

13 4 3
12.Simplify : f. — +4— x — =
implify - + 2 1

7
15

° Watch Video Solution

3 2 32
13. Simplify : g. <§ X —) + (é - —

15 9

27

)



https://dl.doubtnut.com/l/_6xjQKtedwcdJ
https://dl.doubtnut.com/l/_WYbfivFTmYJg
https://dl.doubtnut.com/l/_jBnkmAMry3os
https://dl.doubtnut.com/l/_ln9Yu66jmIS4

° Watch Video Solution

T 6 2 5 27
14. Simplify : 7+§ + §+2_5

o Watch Video Solution

e 5 7 3 9
15. Simplify : i. (17 X 1—0) — (g - E)

o Watch Video Solution

e 21 2 1 36
16. Simplify : ). 10>< ) \7 5


https://dl.doubtnut.com/l/_ln9Yu66jmIS4
https://dl.doubtnut.com/l/_bo778jkDh9Pr
https://dl.doubtnut.com/l/_qQhUTU96iUZk
https://dl.doubtnut.com/l/_E3IGyqcN2YNc

° Watch Video Solution

1
17. Amit buys chocolates worth Rs. 975. If one

chocolate costs Rs. QZ’ how many chocolates

did he buy?

° Watch Video Solution

18. One banana costs Rs. 52. How many

3
bananas can be bought for Rs. 972?

o Watch Video Solution



https://dl.doubtnut.com/l/_E3IGyqcN2YNc
https://dl.doubtnut.com/l/_5b0hvMQtkthA
https://dl.doubtnut.com/l/_TsmO0QszVs83

1
19. A box of candies weighs 6405 g. If each

3
candy weighs 45Zg, how many candies are

there in the box?

o Watch Video Solution

20. Suraj has to distribute 9 kg of sweets into
40 boxes. Find the quantity of sweets in each

box in grams.

o Watch Video Solution



https://dl.doubtnut.com/l/_TsmO0QszVs83
https://dl.doubtnut.com/l/_vccfTD5tKdxs
https://dl.doubtnut.com/l/_f4sc0jSix1w9

4 7
21. Suman covers 23 km in i) hours.

a. How much time is required to cover 63 km?

° Watch Video Solution

4
22.Suman covers 2— km in l hours.
5 12

b. How much will Suman cover in 13 hours?

o Watch Video Solution



https://dl.doubtnut.com/l/_4Tlov9CqPs1o
https://dl.doubtnut.com/l/_IJHqp03Ha5YG

23. The product of two numbers is 3§. If one

number is 33, find the other.

° Watch Video Solution

1 1
24. Anjali covers 435 km in 7Z hours and
5
Nisha covers 27§ km in 4Zhours Who walks

faster. Who walks faster and by how much?

° Watch Video Solution



https://dl.doubtnut.com/l/_2khQJGKDPsHJ
https://dl.doubtnut.com/l/_5I87YG2GQeFC

25. Kiran knits 2Z pullovers in 14§ hours and

1
Anu knits 45 pullovers in 195 hours. Who is

faster at knitting a pullover?

o Watch Video Solution

Revision Exercise

1. Find :

45 37—|—28
i i trE

o Watch Video Solution



https://dl.doubtnut.com/l/_Cp9sR3AaCXbX
https://dl.doubtnut.com/l/_b1cCRJQdMGmi

2.Find :

b75 42 62
57 %1

° Watch Video Solution

3. Multiply:

11

A4 X —
a><36

o Watch Video Solution



https://dl.doubtnut.com/l/_b1cCRJQdMGmi
https://dl.doubtnut.com/l/_hqB4kYypEOi3
https://dl.doubtnut.com/l/_UHKa4hZcI5xx

4. Multiply:

b5><3
' 5

o Watch Video Solution

5. Multiply:

51 X 2
C. 3

o Watch Video Solution



https://dl.doubtnut.com/l/_EkBb2wBDuweA
https://dl.doubtnut.com/l/_qlRN5ggdBmpT

6. Multiply:

o Watch Video Solution

7. Multiply:

L9
16~ 63

o Watch Video Solution



https://dl.doubtnut.com/l/_6VMDQfy0BNaO
https://dl.doubtnut.com/l/_OWbkfOqvHLRp

8. Multiply:

f62 y 15
5 64

o Watch Video Solution

9. Divide:
7
.= =14
9

o Watch Video Solution



https://dl.doubtnut.com/l/_AXAlu5OtHbco
https://dl.doubtnut.com/l/_GALEFtFZfrrQ

10. Divide:

b.13 - 59
40

o Watch Video Solution

11. Divide:

33'32
c.33+ 33

o Watch Video Solution



https://dl.doubtnut.com/l/_71hlvlz2Ouwh
https://dl.doubtnut.com/l/_baknf8rNIcHQ

12. Divide:

d63‘17
63 =

o Watch Video Solution

13. Divide:
49
e. § . ﬂ

o Watch Video Solution



https://dl.doubtnut.com/l/_UCubnotRm6Jj
https://dl.doubtnut.com/l/_6iOkMFUirHuG

14. Divide:

f42‘22
7T b

o Watch Video Solution

15. Divide:
4 45

o Watch Video Solution



https://dl.doubtnut.com/l/_0rjSwi71C1qi
https://dl.doubtnut.com/l/_78Sh2HndCZRg

16. Divide:

° Watch Video Solution

17, Evaluate: 2><15 6 54
-Bvaluate: a. | = X <= 1 33

o Watch Video Solution

18. Evaluate: b 6><35-|—5'15
.Vauae..7 4_8 E.E

o Watch Video Solution



https://dl.doubtnut.com/l/_dPaYIOlfRLzl
https://dl.doubtnut.com/l/_DO1OuRVnaMMH
https://dl.doubtnut.com/l/_rpVRKe74EeiX

5
19. What should be added to (E — ;) to

tl?
get 5

o Watch Video Solution

20. What should be subtracted from
9 N 13 ; . 1 ,
10 20) 812

o Watch Video Solution



https://dl.doubtnut.com/l/_rpVRKe74EeiX
https://dl.doubtnut.com/l/_II9hMmmkz8IF
https://dl.doubtnut.com/l/_3JLrUZZfGfuw

21F'd2 5
-Find o — 7.

o Watch Video Solution

22F'd2 1’b31
. Fin 3o..7

o Watch Video Solution

23F'd2 f 52
-Find = of : c. 5+

o Watch Video Solution



https://dl.doubtnut.com/l/_WaRyj6nVXv21
https://dl.doubtnut.com/l/_bdUjbIxNloWC
https://dl.doubtnut.com/l/_XhIRNB2aaGsE

24. Find = of : 22
. FIN 3O8

o Watch Video Solution

. 3 ..
25. Find: a. gof4 m

o Watch Video Solution

3
26. Find: b. 71 of 5 kg

o Watch Video Solution



https://dl.doubtnut.com/l/_oaYMBE0BfVMw
https://dl.doubtnut.com/l/_YX8y1MIZM7DL
https://dl.doubtnut.com/l/_lcb50CgWJJdF

2
27.Find: c. 5 of Rs. 11

o Watch Video Solution

28. What fraction is 1 kg 440 g of 2 kg 400 g?

o Watch Video Solution

29. A proper and an improper fraction are
multiplied. Compare the product with the two

fractions.



https://dl.doubtnut.com/l/_LiRfXXUYell6
https://dl.doubtnut.com/l/_7bgWA7qodi7r
https://dl.doubtnut.com/l/_4ESiZYyoN6l8

o Watch Video Solution

30. Compare the following without evaluating

the product:

3 7 _3
o= x =0 =
a|5><9 5 11

ol w
X
©|
[]
©| 3

o Watch Video Solution

31. Compare the following without evaluating

the product:


https://dl.doubtnut.com/l/_4ESiZYyoN6l8
https://dl.doubtnut.com/l/_vTHd7s9AOya0
https://dl.doubtnut.com/l/_o003NJBpRDT0

b.
1 12 12

2><8|]
- = 11.

><8D8
5) 7 5) 5

° Watch Video Solution

12

32. Find the reciprocal of : a. I

° Watch Video Solution

33. Find the reciprocal of : b. 1

° Watch Video Solution



https://dl.doubtnut.com/l/_o003NJBpRDT0
https://dl.doubtnut.com/l/_DBzdM8m2leMp
https://dl.doubtnut.com/l/_tCdltKiqgQYT

34.Find the reciprocal of : c. 11

o Watch Video Solution

5

35. Find the reciprocal of : d. 4§

o Watch Video Solution

22

36. Find the reciprocal of : e. -

o Watch Video Solution



https://dl.doubtnut.com/l/_RcL3k8rnzzan
https://dl.doubtnut.com/l/_VySZC8DvTD23
https://dl.doubtnut.com/l/_QSSmceLOgtfQ

37. A fruit juice seller has 12— litres of juice in

7

5
a container. He sells 96 litres of juice. He then

refills the container with SZ litres of juice.

How much juice is there in the container now?

11

A 1l—
84

11

B.Y—
974

C.13 1
84

D 1123
84

Answer: A

‘ o Watch Video Solution


https://dl.doubtnut.com/l/_CwKqzdBUmFR4

38. Preeti selects a dress material costing Rs.

355 per metre. She needs 5 m of the material.

How much does she have to pay?

o Watch Video Solution

3
39. A square is of side 3Z m. Find the area of

the square.

o Watch Video Solution



https://dl.doubtnut.com/l/_CwKqzdBUmFR4
https://dl.doubtnut.com/l/_gxS95WoeaX5s
https://dl.doubtnut.com/l/_R2KDeLRBSsaj
https://dl.doubtnut.com/l/_tXHQwxcDYd39

3
40. Sarita had Rs. 10, 500. She gave 5 of it to

her friend Geeta. How much money is left with

her?

o Watch Video Solution

41. The area of a rectangle is 785 square

2
metres. If its length is 105 m, find its breadth.

o Watch Video Solution



https://dl.doubtnut.com/l/_tXHQwxcDYd39
https://dl.doubtnut.com/l/_TdoLFDOo48Mb

42. A juice can contains 225 litres of juice.

How many jugs of capacity 1§ litres are

required to empty the can?

o Watch Video Solution

3
43. A car moves at a speed of 57Z km/hr. The

car travels for 3 hours 20 minutes. Find the

distance covered by the car.

o Watch Video Solution



https://dl.doubtnut.com/l/_taj1jtQff926
https://dl.doubtnut.com/l/_QjivBTLqP2y7
https://dl.doubtnut.com/l/_EM1jCxW2gnNf

44, A man sells 35 bags of potatoes for Rs.

653. How much will he earn if he sells 8 —

bags of potatoes?

o Watch Video Solution

Challenge

1. There are 1089 students in a school. One-
ninth of the students wear exactly one glove.
Half of the others do not wear any gloves. How

many gloves are being used by the students?


https://dl.doubtnut.com/l/_EM1jCxW2gnNf
https://dl.doubtnut.com/l/_10zaeVsmm4zn

° Watch Video Solution



https://dl.doubtnut.com/l/_10zaeVsmm4zn

